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Pegel Weinahr
Ereignis 40, HQ 3

70 35 N-Summe: 59,29 mm
Scheitelabfluss: 39,5 m3s
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42 | 1+ 21 Q Ereignisbeginn: 4,63 mds
Ereignisdauer: 171 std.
Abflussbeiwert: 41 %

N-Dauer: 60  Std.
max. N-intensitat: 6,9 mm/h

{: l mittl. N-intensitét: 0,99 mm/h
0 - - % % % % 0 Verzdgerungszeit: 15  std.
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Niederschlag [mm/h]
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Wetterlage: 9

Niederschlagsverteilung

EZG Pegel Weindhr
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unter 44,40
44,4 - 45,6
45,6 - 46,5
46,5 - 45,0
45,0 - 49,2
49,2 - 50,4
a0,4 - 51,6
al,6-52,8
22,4 - 54,0
a4,0- 55,2
25,2 - 56,4
26,4 - 57,6
af,6- 55,8
2,5 - 60,0
60,0-61,2
61,2 - 62,4
62,4 - 63,6
63,6 - 64,5
64,3 - 66,0
66,0 - 67,2
aber 67,20




